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The word “science” is derived from:

1P K0 | 1

English gfé I

D

Latin 6.% IX"4

Arabic d  f

Urdu s/ A

The branch of physics which deals with study of motion

of objects, is called: e e e LFrdpaizitnd 7 | 2
Thermodynamics Kinematics

u{l'fijr/; D | Mechanics u’(hfl/ C u’é:d/K B Sound 43 A

The study of internal structure of Earth is called: ﬂébM »’WK&V&U}’J o3

oo Physics Atomic Physics

Heat &.r D Sound i C N X% B U A A

Refrigerator is based on the principles of: St b p AR | 4

Thermodynamics

Light <. D Sound 43 C S F v B Mechanics uﬂ A

The basic quantity is: e Ak |5
Momentum f"f » D Torque St C Volume ¢is B Mass J\ ¢/ A

Identify the base quantity: Gl | 6
Distance Lot ¢/ D Force J.# C Area |/ B Speed iz A

The number of base units in SI are: -l i cf‘ Zd’lzzfufﬁ /“"(L‘/ 7
Nine 7 D Seven =\ ¢/ C Six £ B Three & A

Which one of the following is not a derived unit? e SHAU et | g
Watt s D Newton /% ¢| Kilogram ./ ¥v | Pascal A

in:

Amount of a substance in terms of numbers is measured

ST (A P

http://www.pakquess.com

Sir Abbas Gagra Contact # 0303 9300943

Page 1



http://www.pakguess.com/

Class 9t Guess

http:/www.pakqguess.com Annual 2025

Mole J» ¢/ D Newton (/% C Kilogram r!f £ B Gram ,"f A

The number of basic units are: PN 2641 10
Nine D Seven =i ¢/ C Five &L B Three o A

Kilogram is a: L-g( K 11

Base quantity (§sik

Derived quantity /#3#, | p | Derived unit & #5#l | N B | Base unit & y$slk v/ | A

The unit of density in system international is: ey (G“iiui'«fﬁf f"f"l 12
Kgm-=3 v/ D Kgm-? C Kgm-! B Kgm A

‘Which one of the following is the smallest quantity? Y‘Lé)‘s’f Py i) UJ/ =Y | 13
5000 ng v/ D 100 grams C 2mg B 0.01¢g A

One micro meter is equal to: :444'4/? ’/«'? h-g 14
103 m D 10 m C 103 m B 106m ¢ A

One millimeter is equal to: e 0| 15
1m3 ¢ D 1 dm3 C 1 cm? B 1 mm3 A

One tera is equal to: e gL | 16
1018 D 1012 ¢/ C 10-18 B 10-12 A

One Femto is equal to: e Ao | 17
1015 D 10-15 ¢/ C 1012 B 10-12 A

One meter is equal to: AL | 18
100 mm D 10000 cm C 100 cm ¢/ B 10 cm A

One Mega meter is equal to: ¢ dT| 19
1012 m D 10-6 m C 109 m B 106 m v A

One Giga gram is equal to: Al O | 20
100 g D 105 g C 109 ¢ B 100g v A

One pico meter is equal to: Ak | 21
106 m D 106 m C 102 m ¢/ B 102 m A

Which instrument is most suitable to measure the
internal diameter of a test tube? ‘-"ab{/b’u;k];.‘/,ﬁ Lufd L&/ ( o 3 dass16, s e )

http://www.pakquess.com

Sir Abbas Gagra Contact # 0303 9300943

Page 2



http://www.pakguess.com/

http:/www.pakqguess.com

Class 9t Guess

Annual 2025

Screw gauge ({g}

Measuring tap CH.L;,

D b2

Vernier Calipers /s

J{,&/l/

B

Metre rod 5 4 A

A student claimed the diameter of a wire as 1.032cm

using Vernier Callipers. Upto what extent do you agree

LJI_{T_gr;l"‘/‘:’J1.032;{&!5%&0/(;@@//’qu%4

"uga’;hfw‘f/

with it? 23
1.032mm D 1.03mm v/ 1.0mm B 1mm A

A measuring cylinder is used to measure: -%Cfb gr e ik Gj Ll 24

Level of a liquid

J6dis” D| Volume rois v/ Area L4 B Mass Ut A
A student noted the thic.kness of a glass shet.at .u.sing a . < KE u‘-JrJ’” Ser et §f e su Jé’z a8 rb o]
s el SO |0 T £ AL

line. Its thickness is: :‘Lélf” Suittur| 25
3.08 m D 3.8 mm 3.08 mm v/ B 3.8 cm A

One cubic meter is equal to: :444'4/‘{ Jx.( *-'g 26
100 liters D 10 liters 1000 liters v/ B 100 liters A

One liter is equal to ........ . milliliters: e dn P Al | 27
105 D 104 103 v B 102 A

One liter is equal to: e AL | 28
1 m3 D 1dm3 v 1 cm3 B 1 mm A

The least count of meter rule is: e eS| 29
1cm D 0.01 mm 0.1 mm B 1 mm v/ A

The length of a meter rule is: e 30l | 30
None of the above J¥d5 | p 2 meters 0.5 meter B 1 meter v/ A

The least count of a Vernier Callipers is: Wil | 31
1 em D 1 mm 0.01 cm v/ B 0.01 mm A

The least count of a digital Vernier Callipers is: e ST S | 39
1 mm D 0.1 cm 0.001 mm B 0.1 mm v/ A

The least count of a screw gauge is: e L IE LS | 33
1 mm D 0.01 mm ¢/ 0.001 m B 1 ecm A

Significant figures in an expression are: Wl ne s fz'&ﬂ’/‘lf/ 34
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11 th tel
all the accurately known A ¢ ac.m.lra ey
d all the doubtful known digits and
and afl the doudbtiu the first doubtful all the accurately all the digits
digits . known digits
D digit B A
< e . . - . . =y |’V~
Jf/rv/;l;mr}ywnrv 111{:/5'4;%(3&”&//}(0 :.M(’l’”:»//)(l/
The number of significant figures in 0.00580 is: 0.00580 <> Surs A | 35
2 D 3V 5 B 6 A
0.027 has significant figures: 0.027 g sl | 36
D 3 1 B 2 vV A
Motion of objects is studied in: -%t'(.".f'/#’w e J (37
Sound £ib- D Plasma L Light < B | Mechanics uﬁ:ﬁ v |A
A body has translatory metion if it moves along a: -‘Lt’/ =7 ”/'J SRS Jf) U/ 38
Straight line
Line without rotation
/.éfc.)it/ D | Curved path {,:/!ui:(é uﬁf:ﬁyb‘ B Circle 2o A
The motion of a body about an axis is called: -‘Ldﬂ"r Ird, f) S é/‘g%—’ 39
Vibratory motion Random motion . .
Circular motion ){/ Rotatory motion
S D iz o B FrSE v A
The straight line motion of a body is called: -4‘-(51“/ o V- (-"V J"'J f) U/ 40
Vibratory motion Random motion Linear motion
Translator motion
IS EA D e grAdv B S A
The motion of a pendulum of a clock is: ‘GJ e JH!:%LJ ¥ 41
Linear motion % J Vibratory motion Rotatory motion
Random motion u:;/rig/ D S er;‘;/b ("4 B uird/ffbu A
The motion of a steering wheel is: -‘LL'J’ e JJ:: E ._f/i‘/ 42
Vibratory motion Rotatory motion Random motion
Linear motion u:r‘/’fd D uﬁ/u’/’i/{b er/?;/ (4 B u’r,’,‘g/ A
To and fro motion of a body about its mean position is . .
called O Pl lipd LIL a0y S| 43
Vibratory motion Random motion (jﬂ/ Rotatory motion
Circular motion i/}/ D gf}”u’/‘i./.'l; v uéy‘ B uérd/:bu A
http://www.pakguess.com Sir Abbas Gagra Contact # 0303 9300943 Page 4
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See-saw is an example of: -‘adtf«-_,gu’r Juy 44
Vibratory motion Random motion Linear motion
Translatory motion
SrErAl Y D Sl C Frid B S A
Brownian motion is: ‘GJ reis | 45
. . n Linear motion
Random motion ' »* ¢k Vibratory motion Circular motion * ~
v D Iy LA C g B JrEd A
The flight of a butterfly is called: :‘Lt'f »§& | 46
Rotatory motion ) )
Vibratory motion Circular motion % Ve Random motion
G D I a A C oy B sV A
Which of the following is a vector quantity? ?‘g/‘-{..ulﬁ‘ ¢ U"/ oy J.}-?U"‘ 47
Displacement 3
Power s, D ek v C Distance B Speed iz A
Which is a scalar quantity? ?+/k¢ A § S 48
Work s ¢/ D | Acceleration Lﬂ/"fl C Velocity S B Force U.# A
‘Which one of the following is a vector quantity? S i o i o e stdioisr | 49
Mass Ul D Velocity s C Distance A6 B Speed iz A
‘Which one of the following is a vector quantity? (P }5 ug(f CJ!’/ =y J..5f-.’/»‘” 50
Mass Ul D Power s C Work s B Force .9 ¢/ A
......... is not a vector quantity? Y J’A”"/u-’-/’ug sl
Displacement
Torque S D Work s ¢/ C Velocity s B ety A
Which of the following is a scalar quantity? S i A’C '—glf U”/ e J..L?/f"’ 52
Torque St D Velocity S C Power s{ v B Force J.? A
‘Which of the following is not a scalar quantity? Se S N3 Kg S = Sior | 53
Displacement
Power s, D et C Distance b B Speed iz A
Vector quantity is: - S /‘-{3 54
Displacement
Power s D R C Distance Jb B Speed iz A
http://www.pakguess.com Sir Abbas Gagra Contact # 0303 9300943 Page 5



http://www.pakguess.com/

http:/www.pakqguess.com

Class 9t Guess

Annual 2025

By dividing displacement of a moving body with time,

et LS s e s L AP

we obtain: 55
Velocity §s ¢/ D | Deceleration o (3 Speed 4x B | Acceleration gﬁ)’«(’ A
A ball is thrown vertically upward. Its velocity at the
highest point will be: . nbrdU g bt g O J{Jﬁ)f S, | 56
100ms-! D Zero * vV 10ms-! B -10ms! A
A change in position is called: ~ O J.'.A; Vi | 5T
Displacement 3
Distance 6 ¢/ D oot Velocity ¢t B Speed iz A
A train is moving at a speed of 36kmh-1. Its speed
expressed in ms-1 is: -J)f%{t!tﬂut mS'l-‘LU"//W"—%(J kmh-136¢//L1 | 58
25ms-1 D 20ms1 10ms! ¢/ B 5ms-! A
4, 'y » 5, > 1 LT - 5 |
A car, starts from rest and attain a velocity of 20ms-1 in Sz 0% 20&'*?8]% b/l 7= Jlad/u‘.).//(\—g
& o b
8 seconds, the acceleration of car will be: N1 W)’-(’(U' ’-‘Gb{/ S 59
3.0ms2 D 2.5ms? ¢/ 2.0ms2 B 1.5ms-2 A
A sprinter completes its 100 metre race in 12s, its B
average speed will be: ?J”gU’UJL/J’JJ"‘G?/‘};U:}..G12U‘LJ/‘T-’IOOU:' gt | 60
8.33ms1 v/ D 8ms-! 12ms-! B 100ms-! A
Unit of velocity is: -y K(‘f U] 61
Meter per Second Meter per square
Meter ~* D Second £ ) B ) A
MSEV Créx
Speed of falcon is: <k J L <6 | 62
200kmh-! ¢/ D 300kmh-! 250kmh-! B 150kmh-! A
The speed of cheetah is: -y gl G | 63
90 kmh-! D 100 kmh-! 70 kmh! ¢/ B 200 kmh-! A
i) Fe_ ekt 15 " 2 b 2327 (1))
If an object is moving with constant speed then its H"(J;(e ey JJ !n&z/ﬂibﬁ%ﬂf{j{;
distance time graph will be a straight line: 6% (‘:” BUI| 64
Inclined to time axis Parallel to time axis Along distance axis Along time axis
curAR v p| <lelAk cster§ALLG B adterdAR |4
A straight line parallel to time axis on a distance time .
graph tells that the object is: f) S ‘Lb/ £ wf:u/ L”L)J '/.Frd:/f’(’ L‘{*—"';( kLl | 65
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In motion 9@&%

D

Moving with
variable speed (.

&J//L/Q{J“J

Atrest & (e,

B

Moving with
constant speed

&f]c/?:’&p}’/v

A

If an object is moving with constant speed, then its

BBl Fetb TS e e dw 2220 7))

distance-time graph will be a straight line: | 66
Inclined to a time axis Parallel to a time Along a distance Along a time axis (¢
%%;475('v D | axis J!/:eérf!(/u’ v axis £ 41 Lot B £ A
The area under the speed-time graph represents: -‘Gt'/ £ wﬁ‘d’gééfl’ bk | 67
Velocity § 1) D Time Ft Speed Lr B|  Distance 6 v | A
Convert 54 kmh-! into ms: /Lt mstS 5akmht | 68
20 ms-1 15 ms-1 v/ 10 ms-1 5 ms-1
D B A
Complete the equation: vf% - viZ = ......... . | e =vf? - vi? (S S | 69
t D 2aSVvV/ Vav B S A
Complete the equation: vf= ......... | e =i S F e | 70
> D vi + at v vi +-at? B vi- at A
Third equation of motion is: cebbyAle7 | 1
vf? - vi® = 2aS
F =ma D v v = v; + at B S = vt A
The acceleration of a body falling down freely is
approximately: -‘a&vﬂ; Fedd cf'i)’flniérlzl’gn"a/ &nT| 72
10 m?s-! D 10 ms! 10 ms2 ¢/ B 10 m?2s-2 A
Which of the following is the unit of momentum? -y Kf‘:{ redtidiss | 73
Nst D Ns v/ kgms2 B Nm A
Inertia depends upon: S q AW ULk | T4
Force U2 D | Net force s Mass Ul v/ B Velocity (') A
The quantity possessed due to mass and velocity of a
body is called: G 1§t r e ndGoan s’ | 15
Tnertia (21 D | Momentum <> ¢/ Velocity (U B | Acceleration #A1 | A
Formula of momentum is: U K] ,’b“f | 76
M = mv? D P =mv! P=mv v B M =mv A

http://www.pakquess.com

Sir Abbas Gagra Contact # 0303 9300943

Page 7



http://www.pakguess.com/

http:/www.pakqguess.com

Class 9t Guess

Annual 2025

Mathematically momentum is defined as: -‘Lh—i’/ﬁ d f‘{ red g | 77
v
P=mv v D P = (mv)? C P = mv? B P = A
The product of mass and velocity of a body is called: 2] %‘ff <A b LG hulL f) U/( 78
Momentum (b’:»/}” v D Work s C Force J.? B Torque S A
The SI unit of momentum is: s J* f"f"l (f", Y1179
Ns v/ D Ns! C Kgms2 B Nm A
- 145 3y 8 o 19 5L
A string is stretched by two equal and opposite forces ‘éNlo/wJJ}! - ‘LM',%{‘“ J/ J;JV”{GJ”H"(
10N each. The tension in the string is: Wb L | g0
20N ¢ D 10 C 5N B Zero A
The mass of a body: WJ er 1| 81
Decreases when
moving with high Increases when Decreases when
None of these velocity accelerated accelerated
oV D Latlgn[/,‘,%cub’m):” C Lat'lgnuy{,';/’/q)’{! B Lat'lgn[{,L/q)'g A
When horse pulls a cart, the action is on the? fe by 4‘/( Uﬁg’; ‘Lt;?dl‘("b{ - | 82
Earth and cart {,dfguld.fj
4 D Horse 44./"; C Earth 4uJ B Cart 4§ A
Newton’s first law of motion is valid only in the absence B
of: Se bn WK r Ul L J it Sozr S e Bidio | 83
Force U3 D Net force /9 C Friction u:f/ v B| Momentum r‘b‘;»/r‘ A
A boy jumps out of a moving bus. There is a danger for
him to fall. Ce s B5KL S SIS LS e W e LI | g4
Opposite to the direction In the direction of Towards the
of motion motion Away from the bus moving bus
Fer i S o7 D Ferde7 v C e B SAESARGE A
‘Which of the following relation is correct? ?‘Lé’ﬂy Lol e J.5f?/~‘” 85
a m
F=; D F:Z C F=mavVv B F =m-a A
? Lgms-2(d I - 2 M
A mass of 6kg is moving with an acceleration of 2ms-2. 6lg 2(7'-{(1“8 2J’L/Jf4d ‘LP/UJ?LUJ};L
Force acting on it is: -<J2 | 86
12N ¢ 8N 4 N 3N
D C B A
http://www.pakguess.com Sir Abbas Gagra Contact # 0303 9300943 Page 8
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The unit of weight in system international is: -l KusutS* F 'f“/ 87
Newton % v/ D Pound 43, Kg "!/(:K B Dyne (/15 A
How much acceleration is produced by a force of 100 N
2ms? vV D 0.05 ms2 20 ms-2 B 0.5 ms-2 A
1 Newton is equal to: ~e Akl | 89
1 kg'mls! D 1 kgm-1s! 1 kgms B 1 kgms2? ¢/ A
The weight of a body is 147 N. Its mass will be: £ JLKJ"‘LNI47UJ’K()° i 90
1.47 kg D 0.147 kg 14.7kg vV B 1.47 kg A
L ST e 3 s M 2 st 3 (0
The force produces an acceleration of 10 ms~Zina body JMJJJ ‘Gd/&w% ¥10ms ufﬁéu’LkgSu’/!_{
of mass 5 kg. The value of force is: -tf #1 91
50 N v D 30N 20N B 2N A
Rate of change of momentum is equal to: -+3n 4'45; J U{»‘? U':fb“/ Y| 92
Distance b D Net force J/;’_",:‘ Force U9 v/ B Torque St A
_ (Pg=Py) .
Complete the equation: Tt U_'/ ‘};“’”l’” 93
M D T S B Fv A
o o, . l b P 5 . .
‘Which of the following material lowers friction when Lv ‘é/u?uéu}yd ’L/jﬂ/’(‘j‘[z {KLU{J‘}'?/M
pushed between metal plates? el &/(/ o | 94
Fine marble powder
0Oil Jll’ v D Air Ix B Water dk A
LK, b
The force that opposes the motion of moving objects is: -c‘-d)’l/:;.:;gj‘ﬂ 7 (Ll LS72um | 95
Momentum f"’{f D Friction JJ/ v Action ui{, B Weight s A
The maximum value of friction is called: -‘LJM =l olicnli J tf‘(/ 96
Kinetic friction ._ﬁ: JK Limiting friction Normal reaction J/t
) D e v I, B | Cold welds it iy | A
Coefficient of friction is equal to: -%/-'/-h‘-"‘;‘."" Lf}.u/ Kt’/&(/' 97
R Fs
Fs + R D P FsR B i A
- e uﬁ(,
Coefficient of friction between glass and glass is: —g-a] 2@l L joenl ubngk | 9g
0.2 D 0.8 1 B 09 v A
http://www.pakguess.com Sir Abbas Gagra Contact # 0303 9300943 Page 9
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The value of coefficient of friction between steel and

steel is:

-9%&#&'[&&90?1}1&/}1& 99

0.8v D 0.9 C

0.0 B 0.05 A

Coefficient of friction between tyre and dry road is:

_+o£ J.‘«?d:l:’/é Jf)uyuém.ﬁ”u’v 100

0.2 D 0.05 C

1 v B 0.6 A

Coefficient of friction between the tyre and road is:

_‘gog J.“—fd:l:’/é gf{/'uyuébu;l/b 101

1 D 0. C

0.6 B A
0. vV

Coefficient of friction between the ice and wood is:

wedfetds L‘f?uynéd}%u/. 102

1 D 0.2 C

0.05 ¢ B 0.29 A

Coefficient of friction between the iron and iron is:

3

ceed $u2 @ L S nl o/l /T| 103

.

1 v D 0. C

0.62 B 0.9 A

The force required to move the car in a curved path is:

-(g@/;f{;/..:/iuf “L'/d}/ll)i/f?dfﬁdj} » | 104

Centripetal force
Gravitational force

ALV D vASE S C

Centrifugal force

Tension u‘"“'; B U f)ﬁ U A A

‘Which force rotates the body in a circle?

te QS PSS | 105

3

Centrifugal force
Centripetal force

U SR g D USRSV C

Magnetic force
Gravitational force

The number of forces that can be added by head to tail

rule are: -c‘-mc‘-Cﬂlglﬂf'u:f;?:'ﬁ J}U}é—dud‘{;;ﬂ 106
Any number :U;’J{Lj/ vV |D Four ¢ C Three & B Two s A

The number of vectors that can be added by head to tail

rule is:

-‘au“amlggg‘u:f;?)lﬂgfi/"{;cdudgjéf 107

Any number s5'J ¢/ D Four /¢ C

Two s B One i A

The number of perpendicular components of a force are:

8BS L6 L2067 108

Four . D Three o C

Two s v/ B One {i A

A force of 10N is making an angle of 300 with the

horizontal. Its horizontal components will be:

FI6 3 1 Qb6 300 20 L i 3 18 510
Kneisl | 109

8.IN8 VvV D 7N C

5N B 4N A

Tan 45°is equal to:

Tan 45°-c 4. | 110

1 v D 0.577 C

1.732 B 0.5 A

http://www.pakquess.com Sir Abbas Gagra Contact # 0303 9300943 Page 10
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Sin 45°is equal to: Sin 45°-¢sls | 111
1 D 0.707 v 0 B 0.866 A
Sin 45° = Cos 45° = ........ . Sin 45° = Cos 45° = ...cueeee 112
0.707 ¢ D 0.866 Undefined B 1.732 A
The value of sin 90° is: sin 90° +.~.«2 d/ 113
0.5 D 10 1v B 0 A
The number of perpendicular components of a vector .
are: -‘L!U;’. O/ et J;{ $of L/"{!Lf( 114
One (i D Two s ¢/ Three ¢ B Four /¢ A
i - 3 semad F Ut sl G L
In a right angled triangle, length of base is 4 cm and its dl")J”i ‘acmSGl,JJ/;u em 40t/ me et al] /GH"(
hypotenuse if 5 cm. The length of a perpendicular is: -U..'/( ( L 115
9 cm D 20 cm 3cm v B 1lem A
) f - . ye e ".' " 3 o v i -
A force of 10 N makes an angle of 900 with x-axis. Its 10 NJJ;"{JX - ”u':);rd, Ut-g-Cee 7 90051 L
horizontal component is: €| 116
Maximum sljenlJ D Zero * vV 5N B 10N A
In a right angled triangle, length of base is 4 cm and Jetani_c‘_cm3éygf;//;lcm4dy d/mb u:wd”/"/m—g
perpendicular is 3 cm. then its tan ?? is equal to: -b{ red | 117
0.6 D 1 0.75 ¢ B 0.8 A
If Fy = 4N and Fx = 3N, what is the magnitude B
of resultant force? g Yo Sudeind g3uiinNg= Fx.Fy = ANS1 118
10 N D 12N 5¢ B 7 A
The turning effect of a force is called: {4 5":’( 2 t; SL v J( 119
Work s D Pressure 24 Torque SV B Momentum ()”153” A
In SI, unit of torque is: -+&z(~69uﬁd” /‘"(L/ 120
Ns D Nm? Nm! B Nm v A
The perpendicular distance from the axis of rotation to
o L o’ ¥4 o
the line of action of force is called: -‘LWI e S *-”"f{'h"t‘f Ve g™ a0 'ff' 121
Moment arm (/Twr
Work s D Momentum fb’:{r 4 B Torque St A
The centre of gravity of a triangle is at: -t GoS ST gats 4 122
http://www.pakquess.com Sir Abbas Gagra Contact # 0303 9300943 Page 11
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Point of intersection of Point of intersection
diagonals Centre of axis of medians
V3500 Py D rf!JT}'“ C /?&;5!{&{//; v B Centre » A
The centre of gravity of uniform ......... sheet is the
point of intersection of its diagonals: HEL A2 ‘3:.4/ ST LIV 267 &~/ *-'94‘-"':’{-' v <bs | 123
Solid cylinder
Square §¢ # D | Circular ring gf/%/ C Kb # B Triangle 64> ¢/ A
Centre of gravity of a sphere is at: bl STAER | 12
None of the above Radius of a sphere Outside of a sphere
Centre of a sphere
V4% D Wl AL B AV A
The centre of gravity of an irregular shaped body can be
found with the help of: e e il L SR L Posb i | 125
Screw gauge C“f;j% D | Plumb line JUV}“ vV | C Metre rod 5t B Wedge o A
Point of intersection of medians is the centre of gravity
of a uniform: -‘abn&gfdl’/""K ......... rjﬁfj'DJUZi{ﬁJzélb/J 126
" Solid cylinder
Triangular sheet bfﬁb
4 D g ¢ | Circular ring £ /| B Rod i A
Two equals but unlike parallel forces having different )
line of action produce: 3 gl FHIF I Ve JJ Vel &Jg Ssbess | 127
Neutral equilibrium
f-f/d)gd/‘}i D | Equilibrium K}u’:gl C A couple t¥ ¢/ B A torque S A
A couple is formed by: =§-b""‘ﬂ Ji | 128
two equal and opposite two equal and two forces
forces not in the same oppsite forces in the perpendicular to
line same line two like parallel each other
, . ) . forces .
udbL/;quﬁdUd.g JDL/Jiufu’Udmg ’//id;//&,;/uugu
cyz;’._ﬂl?u'd)t/ D cf/}Jl?u’dﬁl/ v C cf/;’gy'/j.-u@u B = A
A body is said in dynamic equilibrium if it has: WUhor et A7 d!g"-fbfﬁ()’ 4| 129
Uniform speed and Uniform
Zero acceleration acceleration Uniform speed acceleration
n}‘ﬁ){% v D !Z(/Ujgfu')i)’guu:{d/ C n(/ujg,é»;g( B npuggﬁ)*{% A
A body is in neutral equilibrium when its centre of
gravity: 1‘3.4; & el 1V ’/"LW’ by d’gdj xfy 41| 130
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Keeps its height if

Is at the lowest

Is at its highest

Is situated at its base displaced position position
b nl D| <tV g Py Fed B gy ek A
A body is in equilibrium when its: !/r"ét'!" VY U’gf) | 131
Speed and acceleration is Acceleration is
uniform uniform Speed is uniform
Acceleration is zero
nr/lﬁggﬁ/‘/gm,‘g D nplﬁg{u"l}/{l v o B n/"ﬁ)/«{! A
The conditions for equilibrium are: s Jl":/ 171 132
Four /¢ D Three % Two s ¢/ B One (i A
According to 2nd condition of equilibrium, must be zero: -&obstagi.... Jdb LJ’/" S ”J % d,f; 133
Angular
Sum of forces Rotational force acceleration
Linear acceleration
States of equilibrium are: -Vt U?l'JF:/ d’g' 134
Four /¢ D Three & ¢/ Two B One i A
A pencil lying horizontally is the example of?: -‘adb‘ﬁ RY: 626%) (}’ Il 135
Unstable
Neutral equilibrium equilibrium
Stable equilibrium
CPRITNVE D EASEILL G 2 EASEILcG v B | Equilibrium £Z54 | A
An example of neutral equilibrium is: -%Je’d/ I{/ d’g'd/‘i 136
Book on a table Pencil at its tip
UG8 D S Sd Block i B| Football 2> v | A
Racing cars are made stable by: e Ut dedegits K| 137
Lowering their Decreasing their Increasing their
centre of gravity mass speed
Decreasing their width
LS D L/?i»&"f_fl}“ v L/{JL B Soster A
Earth's gravitational force of attraction vanishes at: -‘Ldl.”’ ey 49 S~ UZ/ J o~ | 138
1000 km 4 D 42300 km 4 infinity (o6 ¢/ | B | 6400 km 6400 km 4 | A
The idea of gravity was first put by: L/d?r 2;'3 4—&"”"7 K&Z/ 139
Einstein T D Hooke Isaac Newton B Galileo ,:L&/( A

http://www.pakquess.com

Sir Abbas Gagra Contact # 0303 9300943

Page 13



http://www.pakguess.com/

http:/www.pakqguess.com

Class 9t Guess

Annual 2025

B %

A force which is inversely proportional to the square of

JM“GJMJ%{;{JOJIL &/Lzb'uy‘uérlf?lﬁuﬂ}‘ﬁ'

the distance between the centres of bodies is: -< | 140
Gravitational force
Centripetal force Centrifugal force Frictional force
UASFsS v D AL C UASRG B SEN A
Value of Gravitational constant ‘G’ is: -‘Lb"‘g J o d!/r 141
6.67 x 10-'' Nm2kg-2
6.67 x 102 Nm?kg-2 D v C| 6.67x 10" Nm2kg? | B | 6.67x 10 Nm2kg2 | A
Near the surface of Earth, the gravitational field .,
strength is: e JC}VJJJ:.’L}/: d!fvjéi’t!u:/ 142
10 Nkg! v/ D 8 Nkg! C 6 Nkg! B 5 Nkg! A
The value of g on Moon’s surface is 1.6 ms-2. What will "
o 4 | o D _ 6 5 e o
be the weight of a 100 kg body on the surface of the W Kf’..{&kgl()o‘;i’ J‘l"y ¢ ms-21.6= Jg 45 JA",
Moon? Wrl| 143
160 Nv/ D 100 C 16 N B 10 N A
The mass of Earth is: Ui | 144
6 x 10t kg D 6x 102 kg ¢/ C 6x 10 kg B 6 x 10* kg A
The mass of a boy is 40 kg. its weight on Earth will be: KnyibUigti-kgdOWWLZ /Ll | 145
500 N D 400 N v C 300 N B 200 N A
The value of “g” increases with the: g -C‘-Gp S J 146
Increase in mass of
None of the above Increases in altitude the body
Decrease in altitude
s D Y X% C R B| =ilLtnlS | A
Value of ‘g’ at sea-level is ...... ... than hill: -‘éGﬂUf.LG’LU’MG‘fg Jg{lﬁ’i/ 147
Half &7 D Equal ~. C Greater ol v/ B Less { A
The value of ‘g’ at Moon is: -¢-Ux od Jg‘f/’ J*,l;' 148
1.6 km-1 D 1.6 ms! C 1.6 cms-2 B 1.6 ms2 ¢/ A
The value of ‘g’ at Jupiter is: -‘Ll-"«‘..". if 2457 | 149
25.94 ms2 ¢/ D 10 ms-2 C 9.8 ms2 B 1.62 ms-2 A
The value of “g” on the surface of Mars is: -‘Ld!" ."«f J g{ff J é/ 150
10 ms-2 D 8.87 ms-2 C 1.62 ms2 B 3.73 ms2 ¢/ A
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The altitude of geostationary orbits in which

communication satellites are launched above the surface

S AN D c/’wru"fr!u:&wfd;?}f

of the Earth is: :‘Ld” 151
42,300 km D 6,400 km ¢/ C 1000 km B 850 km A
The orbital speed of a low orbit satellite is: -9&” LSl S0 S S £ e ,. 152
8000 ms-! D 800 ms-1 C 8 ms! v/ B zero 5 A
The speed of geostationary satellite with respect to Earth
is: e Ondpleprg pze 8L 040 | 153
Less { D Zero vV C Same /., B Double u'f» A
The total number of satellites in global positioning
system is: -UZU':‘{WJU:(V hff?d{.’t}»f 154
25 D 24 v C 22 B 12 A
The speed of a satellite nearest to the Earth’s orbit is: e Onbyderg s 7 Lot | 155
10 kms! D 8 kms! v/ C 7 kms! B 6 kms-! A
The height of a geostationary satellite is about: -‘L(}M l{.ﬁ iy O/ O 1% U;"-y 2| 156
38,000 km D 10,000 km C 6,400 km B 42,300 km ¢/ A
The moon is nearly ......... away from the Earth: ~&-dIiiiiiinn Lf-/n‘; LL‘J:J/:L’ 157
37,0000 km D 37,000 km C 3,800 km B 3,80,000 km ¢/ A
The moon completes its one rotation around the Earth
in: et SRS Loty | 158
31.3 days D 29.3 days C 27.3 days ¥V B 25.3 days A
The centripetal acceleration is inversely proportional to: -&tbx J; J{,’!{J/ JJ'U?')’Q&:U/‘{ 159
Mass and radius
U h sl D Radius (4, v/ C Velocity (1) B Mass Ul A
Centripetal force is directly proportional to: -t S /{’4&}"‘(/’5J PN A | 160
R D \Y C Vv B m2 A
The velocity of geostationary satellites with respect to
Earth is: e bna WL iFnduiees 242 | 161
15 kmh-! D 10 kmh-! C 5 kmh'! B Zero sy v A
The work done will be zero when the angle between the
force and the distance is: et il Sl sl S obnpo S | 162
1800 D 90 v C 60° B 450 A
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If the direction of the force is perpendicular to the

direction of motion of the body, then work done will be: nTsirlost FLardfr f) 2e§Ud 1| 163
None of these U $5Utu D Zero VvV C Minimum f/él,?! B! Maximum u&)é({?’ A
The SI unit of work is: ey JF AT | 164
Pascal J’g D Watt s C Joule J# ¢/ B Newton % A
If the velocity of a body becomes double, then its kinetic
energy will: :&j'uafd(JJ’legﬂ%!U’UﬂJf)'J(/’ 165
Become half Become double
Become four times Remain the same
LL&L?D/JAJ D LL&laan/,lg v C Laélgnlfu B 9(37/.‘;}’:’/ A
The kinetic energy of a body of mass 2kg is 25]. Its .
speed is: -Jﬂ*:{JJ’-‘LJ25‘5~/"~—éfd(J{K~—g£(’;’Q 166
50ms- D 25ms-! C 12.5ms"! B 5ms! ¢/ A
Kinetic energy is directly proportional to the ......... ..
velocity of a body: - & /{’4(«"{/’35 --------- Lény, () G ¥ if () U’( 167
Four times 7k D Three times (7 C Two ties (7> B Square & v/ A
If the velocity of a body becomes three times greater,
then kinetic energy will be: -J PR N kv ';ngd:/u}:} el G0, f/ J( A1 168
Six times (77 D Four times 7k C Nine times (/¥ ¢/ B Three times 7% A
The energy possessed by a body by virtue of its motion is .
called: < QBB 2P Ui 6| 169
Potential energy Kinetic energy Chemical energy Nuclear energy
GAFy D G e v C AL B G K A
The work done in lifting a brick of mass 2kg through a
height of 5m above ground will be: En SR L FSa Jm5cdﬁi-’«'«'~g Jf 2 170
100J v D 50 C 10 B 2.5] A
The energy in the stretched bow is: -‘LGW/ G2 UL{G)’" S| 17
Kinetic energy Elastic pOtffltlal
energy u’./’!‘}’i,;ufau”;
Sound energy G435 D | Heatenergy S/e: | C &i'u@‘&l{ B v A
Hammer raised up has energy: -‘Ldﬂ SALSI# Lj)"' J 172
Kinetic energy
Potential energy
Heat energy e D | Sound energy &AL | C J./'!_,@:'JK B &/'U'gfb{‘ (%4 A
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‘Which one of the following

converts light energy into

S b/ U U EAL A Gy S et S o

electrical energy? 173
Electric generator Electric bulb
Electric cell & 4 D | Photocell f59 ¢/ /‘?./J/b?' B S A
i1y 19 51 . 2
When a body is lifted through a height h, the work done LF ALl ¢ bl _FSekhs | () e -
on it appears in the form of its: -ebngb | 174
Elastic potential
energy Kinetic energy
Geothermal energy Potential energy
SHS Az D @ju‘_}fﬁbg_ﬂ,&u J.;uf‘:‘g v B Gt 3¢ A
The energy stored in coal is: -‘LGJ'M} M? S L 175
Chemical energy Kinetic energy
Nuclear energy J./'l/:%xi D J./'!Lﬁ.‘{ v J./'Ibﬁjég B | Heatenergy SJes | A
The energy stored in dam water is: ~¢-Gn s Y410 dgﬁﬁf 176
Kinetic energy
Potential energy Electric energy
Thermal energy /7 | p (ﬁ/".ﬁjél{ J,jl‘jf‘i‘z v B Lﬁ/"ﬂ}gl A
......... device converts light energy into electrical . )
energy: L eeseeeene -q.d/gf“i‘ﬂ&]lgﬁ'/‘g'[&j'u‘{ﬂuqu 177
Electric cell Photocell Electric generator Electric bulb
Je 28 b i ey B Nz A
In Einstein’s mass-energy equation, c is the: - b/ et G A W | 178
Speed of Earth Speed of electron Speed of light Speed of sound
JEARS D hrdws G v B L doad A
There is a hot molten part, deep in the Earth called: - b ookt L‘{ (- /S us d'/f ,L.LU:/ 179
Plasma Lk D Mixture/.j[ Magma v B Lava sy A
The source to produce pollution free electricity is: -2 (Lﬁfid&/{g ’V@é—‘j ’JJ,’ 180
Wind turbine g)’i'}
Radioactivity &yfg'gé/ D 4 Oil J‘/f B Coal J&” A
Rate of doing work is called: WIS S S | s
Momentum (C{}’ D Power s, ¢/ Torque g B Energy §./1 A
Power is equal to: - slsn | 182
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v D WTZ C g B Wt A
10 joules work is done by a machine in 5 sec, its power
will be: Sy u1-e 3/ Snd21002 56505 4 | 183
50 W D 25 W C 10 W B 2W v A
One horse power is equal to: ~eArU 4K | 184
1100 W D 1000 W C 746 W ¢/ B 764 W A
1 MW is equal to: -2 IMW | 185
108 W D 10 W C 10t W B 102 W A
One kilo joule is equal to: -<21KJ | 186
10 W D 109 W C 106 W B 105 W ¢/ A
In which of the following state molecules do not leave
their position? S ok I gl AN ol ok | 187
Plasma D Gas ¥ C Liquid & B Solid U# v/ A
Molecules are very close in body of: gLkt o I | 188
Gases =& D Liquid &t C Solid U'# v/ B Plasma L A
The fourth state of matter is: -‘Gdl’(f/ % J »b | 189
Plasma U, ¢/ D Gases C Liquid &t B Solid U # A
Which of the following substance is the lightest one? tedfe o2 | 190
Lead — D| Aluminum £<% | ¢| Mercury$/, v | B Copper 4§ A
Mass of unit volume of anybody: _“buf B 1e s sy L f; tf( 191
Surface & D Force U .# C Density & ¢/ B Area L4 A
In SI, the unit of density is: e RS H | 192
Kgm! D Kgm? C Kgm- ¢/ B Kgm! A
Density = oo =08 | 193
Mass/volume Weight/mass Weight/volume Mass/volume
s D UislJL C ¢ls] s B el ULV A
Mercury is denser than water: - Js édg 67 | 194
10.5 times 10.5¢7 D | 13.6 times 13.6i7° | ¢ | 12.5times125¢° | B 10 times 10 7 | A
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5 liter is equal to: ~&b 4475 | 195
5x 103 cm3 D 5x 103 cm C 5x 103 m3 B 5x 103 m3 v A
SI unit of pressure is Pascal, which is equal to: -¢tn Ak kugﬂ"étf/ (2 Y Vs S /"(y 196
103 Nm-2 D 102 Nm-2 C 1 Nm? ¢ B 104 Nm-2 A
One Pascal is equal to: -‘Lb'n/.’/.f L i | 197
12 Nm- D 102 Nm-2 C 1 Nm2 v B 104 Nm-2 A
In SI, the unit of pressure is: -eiy (/f'-{U':J’: f"f"l 198
Kgm-3 D Nm C Kgk-! B Nm?2 v A
‘What should be the approximate length of a glass tube to L. .
construct a water barometer? ?%!gdﬂ (J.'ﬂ'l"l"dl:)t; s &2 .&LLL‘/‘{ Y ((3.5, 199
1lm ¢ D 2.5m C 1m B 0.5m A
At sea level, the atmospheric pressure is about: -txn 4'4/':-4*(2’ ”’"4“” i’ 200
1000,130 Pa D 103,100 Pa C 110,300 Pa B 101,300 Pa ¢/ A
......... works on Pascal’s law: -‘LV/(K{.UJGZ:J‘E, 201
. Vernier calipers
Hydraulic press B
Wedge & D ol v C B Screw gauge C“f,;‘/ﬁ A
R J M /:ﬁu
Hydraulic press works on: -‘ab'/ (K uﬂ‘;.ﬂuﬂ, 202
Archimedes
Hooke’s law » Pascal’s law Newton’s law
D principle C B A
JIGEL . L LV I L %
R I Z g i W LFy Ladtiatds
The density of a substance can be found with the help of: -§-£3'C b if [ 53 2——5( 203
Archimedes , .
Principle of floatation principle Hooke’s law Pascal’s law
S Lig D C < B < P A
. - . . S5 L S5 Z L
LMJU”G‘LJ/‘:‘ZA 4 oY ‘ It ¢
According to Archimedes Principle, upthrust is equal to: 198” Aad 3 Jl{'aw’édﬁ’ LU a5 | 204
mass of displaced volume of displaced weight of displaced
none of these éfcuﬁul liquid LéLLULLg:;f liquid LZZLLUL@Q liquid Lél.Lbé_lg:;T
S D AL Ul C AnL i B Al A
The Upthrust force of a liquid is equal to: -‘LJ” a3 J dl‘.’f'd/ o | 205
pgA D pgh C pgV v B pgv A
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If ‘w’ is the weight of the body and ‘F’ is the upthrust of

liquid, then the body will float if: :/r"éb'/f U':L},E, (2 IF U JVE’J dl.u"w‘ub(()‘ tf( /i 206
Both B and C B .« C u;u
v D W=FW=F C W< FW<F B W>FW>F A
According to Hooke’s law: b Lyl Lo | 207
Strain / stress = Stress / strain = Stress x strain =
constant constant constant
Stress = strain (* »=¢/ ~ | D G I =SS cl Frigr=257v | B o =LA xR A
The ratio between stress and tensile strain s: -‘GGM oY UL“”LL'J:/’ JS u‘.’."/”U'J'/’ 208
Shear modulus Young’s modulus Bulk modulus
Elastic modulus
S F D S v C i B Ui B A
Stress/Strain =.........: S U‘J‘f Il | 209
Archimedes’
Hooke’s law Princiol Newton’s law Pascal’s law
D rinciple C B A
JIEEL V . JIGE S JIEEFL
UIEE oy UG BRI
SI unit of stress is: -y KU?‘/’ 210
Nm Nm D Ns Ns C Nm-1 Nm-1 B Nm-2 Nm-2 v/ A
A large water reserviour keeps the temperature of nearby .
land moderate due to: -< V{/di‘" é—»—?’d/ ------ i W3wLsS st 2 50!(5& 211
large specific heat of less absorption of low specific heat of low temperature of
water D heat C water B water A
c,?;u(/!‘g&/’]u’}.u(dg v L.?}Jh.«',?’&/’]#/ L.?Jd//r‘g;‘,/'](d/&g L;}ny:‘gﬂ/édg
In......... state of matter, molecules do not leave their .
position. -Lbuﬁ’/bf.ﬁd;'/:;?tuf 3 P Gosk | 212
Plasma Lk D Gas u’f C Liquid él. B Solid ¥ v A
Metals are good conductor of heat due to the: Y, £ BERLL J ;;f o &7 ! J eA7# | 213
Rapid vibration of their Small size of their Big size of their
molecules molecules molecules Free Electrons
Sy TSI EL pl| Al LAl | AL B ST A
......... of crocus is natural thermometer: -%/"f e /? d/ﬁb’uf’/ 214
Root 7 D Stem & C Seed & B Flower J%£ ¢ A
Water freezes at: e berdiglrt Ut Gk 215
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00 K D -2730 K C 320F v B 00 F A
Normal human body temperature is: "L/é'/{-; Kf)' duiter =7 Ju | 216
98.6" C D 370 F C 310C v B 150 C A
Mercury is used as thermometric material because it has: :%V{/d S bl .MJL‘:”%/"’ LJ../.“': Jff ¥ /? Iy d/ /| 217
Uniform thermal
Low freezing point expansion
All the above properties Small heat capacity
e i, D F it C g | B wAdrud | A
The water converts into ice at a temperature: St & JJ/%Z-/;} id L},E, 218
00 K D -273° K C 320F v B 00 F A
Boiling point of water is: ~e il Sy KG,E, 219
100 K D 2730C C 1000 C v/ B 00 C A
Mercury freezes at: <287 | 220
-100° C D -39°C v C -357°C B 0°C A
Temperature of ice in freezer is: -5 b”é'/j bSautin/ | 221
-28° C D -18°C C -8° C B 0°Cv A
Complete the equation: T((K)=........ .~~~ .. =T(K)-J/ t}; <hls | 222
273 -F D 273+ F C 273 -C B 213+ C vV A
Absolute zero is equal to: ~e-brsmgedye) | 223
-2273°C vV D 100° C C 100 K B 0°C A
On Celsius scale, 50° C is equal on Fahrenheit scale to: En /-'/.Zv;} 00504‘.}36 U'f-'):/ 224
90° F D 122°F v C 102° F B 100° F A
Which of the following materials has large specific heat? e Jobor? cirnilt frewd | 225
Mercury §./ 7 D Water §t v/ C Tee S, B Copper 4§ A
Unit of specific heat capacity in SI system is: o S o | 226
Jkg2K-2 D JkgK C J-kg K-t B Jkg'K1 v/ A
Specific heat of iron is: -‘L»’!} A7, <) | 227
903.0 Jkg'K-! D | 470.0 Jkg'K'v C 920.0 Jkg'K-! B 387.0 Jkg K- A
The specific heat of water is: ¥ iz | 208
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1760 Jkg'K-! D 2500 Jkg'K-! C 4200 Jkg'K-! ¢/ B 800 Jkg'K-! A
Latent heat of fusion of 1 kg of ice at 0° C is: 0°C -J"’ eird Jjw{ J__j/.r JF 164 | 229
336 x 105 Jkg! D 3.36 x 103 Jkg! C| 3.36x105Jkg'v | B 33.6 x 105 Jkg! A
Which of the following affects evaporation? St/ IS Rz Ui | 230

Surface area of the
All of the above licuid
D Wind 15 C Kl B | Temperature Zo[fb/ A
[/ L'?;d V 1
S g/"'b/i/ e
Which of the following materials has large value of )
temperature coefficient of linear expansion? S stosl it if e QS LAl L et it | 231
Steel J~ D Brass J% C Gold 45 B | Aluminum £=4 v | A
SK-2 e Sucd @1 Lkl s P L
What will be the value of for a solid for which has a x10-5K-2 = Ju{d]" fé’%d/]d)ééu’/h{
value of 2 x 10-5 K-1? Snedde2@r LA luie 1| 232
8 x 105 K-! D 8 x10-15 K-! C 6x105 K1 ¢/ B 2 x 105 K-! A
Which gas is used in spite of Freon gas in refrigerator? Q‘GJL’ J d‘?‘r”Jf 1] L’JJ( 4‘-(; J U”U/'Uf/'ﬁ/‘“/f:"d 233
N; D NH; v C H, B CO; A
The way by which transfer of heat takes place are: &S Lear | 234
Four /¢ D Three o v/ C Two B One i A
In solids, heat is transferred by: -C‘-J;./’ b7 J@’J‘:( LIv# | 235
Absorption L‘ﬁ'/’/'J D Convection ubf/ ¢ | Conduction gf”(ifl/ B Radiation u’%’dé/ A
Metals are good conductors of heat due to the: ~C (P J/J HEL R 236
Rapid vibrations of their Small size of their Big size of their
Free electrons
atoms molecules molecules
D C B A
. s LT
AL AesF AL Az AL o1
False ceiling is done to: (b sl g dusifs= | 237
Lower the height of
Insulate the ceiling Cool the room Keep the roof clean ceiling
L//»_"gfr"fc»e’ v D L/('iwh’}’/g/ C l:/'/JLu’/c»g’ B L/{&L{}’J&e’ A

‘What happens to the thermal conductivity of a wall if its

thickness is doubled?

{2 AE g Smder Saps” | a3g

becomes one fourth

< xdug

becomes half

Lagbndp:"t/

remains the same becomes double
B A
< Gt (bl
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Unit of rate of thermal energy is: RO (9 e/ | 239
Joule per second
Second per joule J234£ | p Joule Jz C M3z v B Kelvin g A
The unit of rate of conduction of thermal energy is: 4 KZ/;' J J&{ b J gAJ /? 240
JK-1 D K C J B Jsl v A
Thermal conductivity of silver is: < EBLAEF | 2
430 Wm-K-! ¢/ D 400 Wm-1K-! C 105 Wm-1K-! B 245 Wm-1K-! A
Thermal conductivity of rubber is ......... Wm-1K-1 -‘L(:f.).’:{ Iy $2 | 242
0.59 Wm-1K-! D 0.2 Wm'K-1 ¢ C 1.7 Wm1K-! B 0.08 Wm-1K-! A
The thermal conductivity of a dry air is ......... Wm-1K-
1: ISP | 243
0.026 Wm1K-1 v/ D 0.02 Wm-1K-11 C 003 Wm-1K-! B 0.08 Wm-1K-! A
Thermal conductivity of brick is: < FHS Al | 2ua
1.7 Wm-1K-! D 0.8 Wm1K-1 C 0.2 Wm-1K-1 B 0.6 Wm'K-! ¢/ A
The unit of thermal conductivity is: -‘éb"'igb -0 /; 245
Wm2K-! D WmK-! C Wm1K-! ¢ B WmK A
The thermal conductivity of water is: -‘é(:f.}:ff P i (3& 246
0.59 Wm'K! ¢ D 0.8 Wm-1K-! C 0.6 Wm-'K-! B 245 Wm-1K-! A
Thermal conductivity of ice is: < GFBSAESs | 27
2 Wm-1K-! D 1.7 Wm'K-1 ¢ C 0.9 Wm-1K-! B 1.8 Wm-1K-! A
‘Which of the following is a bad conductor? ?4‘-/"( o kf; VVU!’/ =y JJ-?M” 248
None of these J¥dY | D Tron (¥ C Wood ¥ v B Gold t» A
Example of a bad conductor is: <P | 249
Graphite _u’@f D Wool usl v/ C Iron ¥ B Gold ¢+ A
In gases, heat is mostly transferred by: SRV Y Je b /.‘.r 250
‘ , Molecular collision ,
Absorption *% ¢/ | D | Convection (#i54s | C ) B| Conduction % | A
Convection is the process of transfer of heat due to the: -‘L%/(:a/'] Jli‘léziﬁ ﬂ/ 251
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Free movement of

Upward movement

Downward

movement of

Random motion of

molecules D of molecules molecules B molecules A
S TS Frobdn i v . Fo 60
Sl . U8 »-,/,d'd/ . er/‘lgqyu(ﬂ;;?l. J /'”fu( -
Rooms are heated using gas heaters by: PAuled r/ fe Je L) jguf 252
Radiati I Convection and
adiation on y . . C d t- 1
. diat onduction only
Convection only u’gfl/ D radation B J’/,J A
S . . -
U) d/",,/ ﬁldéugluﬁg}(
Heat transfers through fluids by the method called: -‘LJ;.) edrJ@ieide | 253
Absorption ui-):!ﬂ D | Convection u:gr’/t/ Conduction fl‘/ B Radiation U?"dé/ A
Reason of glider to remain in air is: -%'-.‘:"(',L/Uf I Lb‘!’ ¥ 254
Convection u:{r'/l/ D Radiation ﬁ'd{/ Conduction u:‘(il/ B Power 4 A
Land breeze and sea breeze are the result of: 4 T S $f f"J Iy f"J 255
Absorption ui-):!ﬂ D Radiation cf’l!dg/ Convection u;gr(t/ B Conduction ujfu/ A
In liquids, heat is mainly transferred by: -t B A7t Wl | 256
Free electron
Convection u:{/&/ D Radiation ﬁ'dé/ Conduction ‘_ﬁ/fU/ B )'!}g’:’JT A
Which of the following is a good radiator of heat? ?“-/:"(54‘.1&: eir&Sufedtdiome | 257
\ A shining silvered
A green colored surface b A white surface A dull black surface B surface A
C St et E o o Tt )
e E&Fnttiv
The major source of energy is: - 2512867 | 258
Sun . vV D | Nuclear fuels I Earth %) B Moon 4t A
A Leslie’s cube has faces: Vil Ufb i &'&( 42| 259
Eight #7 D Six # Four .t v/ B Two » A
Which colour is a good absorber? ?‘é’*’{ v}?l’:'hflb’uf 260
Colored gj.f J D Shiny & Black sl- ¢/ B White &~ A
Warm clothes for winter season are: -t af: (- S .id:uz”/ 261
Cotton ¢ D Plastic ..EU; Silky u‘%/ B Woolen &;! (4 A
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A good absorber of heat: BB | 262
Shining silvered surface White surface Coloured surface Dull black surface
e D C _ B - A
ORI Eo ) Cobdne v
Global warming is due to a gas: -‘Gd!" =2 J"f -------- oy J,b’ 263

Carbon monoxide

Chlorine c{/}g D ST ¢

Carbon dioxide

) B Oxygen gﬁ“’rf A
ST 6

(ot i i )

1. Write short answers of the following
questions.

Sl F ez Ly s osu

balance.

Define physical quantities and derives quantities. TSP S A &
Define base and derived quantities. ‘U:J PSS uns A 2
What is meant by base units? Give two examples. ‘wug@,”u?,?%},/gc_&w,g 3
Write the names of four derived units. _ugf ot LSy A 4
Define derived units and write two examples. _Q,dg@,,,/,,ff S8 A 5
Define base and derived units. SIS S BRI 6
Which base quantities have units Mole and Kelvin? LU B S oA T
What is meant by prefixes? Give an example. sy S }J/d . 8
Define prefixes and write two examples. ey S /JJ/LS .9
What is meant by scientific notation? What is its rule? e e B A0
Explain with example. ‘

Write in standard form 3,84,000,000 m and 0.00045 s. 0.00045s s/ 3’84’000’00(),”_&%:055%@ 1
Express in scientific notation: 0.00580km, 210g. 0.00580 km: Zlog-uf’vuﬁﬂiu@%’t/ 12
You are fifteen years old. Estimate your age in seconds. _ufi Ve F e ek FET A3
What is the least count of the meter rod? e Vb 14
What is meant by the least count of a measuring sl o i Letife 15
instrument? ‘ )
Define zero error and zero correction. e e FE i A6
What is meant by vernier constant? e pW e 7 AT
Differentiate between Positive zero error and negative zero Sl e iglsy ;{g»,j VISEITERE:
(la)ré?i:e pitch of screw gauge. Sl = ESELS 19
When the zero error of a screw gauge will be positive? St iy S v 20
Why a src):rew gauge measures more accurately than vernier fe iy o Pl ~ B 21
\ﬁllgfir:é physical balance? ¢ ‘L&ruﬂ:.ﬂ 522
Differentiate between electronic balance and phsical -ui”JJ SASEE AN 23

Differentiate between a mechanical stop watch and digital
stop watch.

_q/J)uﬁ@u.;L'pﬁsmﬁ:( 24
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Define measuring cylinder and write its uses. -ui”idtw‘”%/mu/bé/"&ﬁ%&jb 25
Write the method of measuring volume of an irregular ‘JJ@.)KL/rPr’J"gﬁJ’;{y””Gé— 26
shaped solid.
How can you determine volume of an irregular shaped /r’b»cf:rzg,’gﬁkf);’c_bﬁgé_vg;dw,éjj;p‘?g?'{ 97
object using a measuring cylinder?

o
Write two rules to find the significant digits in a _uﬁdﬂ,”‘CL/ﬁwéHﬂuﬁJﬁg 08
measurement.
What we shall obtain to round of the last digit (5) from 1.35 | 4 ¢ ¢ o foL1e o S 5T200sBsws ST AU AL 0y 29
and 1.45? ‘ i 145
What is meant by kinematics? S /JJJ@&/K 30
SWhat is translatory motion and linear motion? SIS B IEFrEanF S AP 31
Define circular motion and give example. cdeng S S e 32
Define random motion. Give example. M}Jf’u'%/v?/?tff}”ri&/ 33
Differentiate between rotatory and vibratory motion. SIS EF S AT S 34
Define and explain vibratory motion with example. el Jo sl Sy S S s 35
Give two differences between rotator and random motion. It P i FrS i 36
Define motion and write types of motion. e LSSy S f S F e BT
Differentiate between linear and random motion. ISPt rmES 38
Define linear and translatory motion. SIS B PEF S M ES 39
Define vibratory motion and give example. ey Sy JEF S A
Define scalars. Give their example. ey S JSAE A
Define vectors. Give their examples. ey Sy A 42
What is meant by position? Explain. el Sy Sy 43
De{i;\e speed. Write its mathematical formula. What isits SI | ¢ ey P f"—/w,_uﬁﬂ U Qg S F Sy 44
llj)rgfiﬁ: uniform speed and non-uniform speed. (Variable S P S b SIS g iy 45
Sg%zﬁlvelocity. Write its mathematical formula. What is its Vet r/_uf»ﬁ U hQI Sy F S5 46

fe
Define average velocity and write its formula. s e Vs L/L,, 47
Define non-uniform (variable) speed. Ce il (SIS lizgut 48
Define terminal velocity. SIS FSEnSs 49
Differentiate between speed and velocity. GGt E ke 50
What is meant by uniform velocity? Sl p e frplizy 51
Write the use of lidar gun. e s 52
Define acceleration. Write its mathematical formula and SI | ., #% fb"/wﬂ-u‘f’i Vo QU1 S PSS M 53
unit. oy
What is retardation? Ce VPt 54
Define uniform acceleration. I A clzy 55
Define uniform acceleration and give its any example. _QJJ@VQJ/JJ,AM/#/J&%){,rjw 56
Write equations of motion for uniformly accelerated motion. _ufﬂ Sl frd L& e oy 5T
Convert 1 kmh- speed of a body into ms-'. S st ms et kmh 5T 58
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Convert 72 kmh-' speed of a body into ms-'.

S w st ms-1 e T2kmh 157 59

Convert 36 kmh-' speed of a body into ms-'.

S ot ms S 4y 36 kmh 7T 60

Convert 20 ms-'speed into kmh-1.

AL kmh 1 20 ms 61

Define gravitational acceleration and write its value.

iSSP EHE IS 62

Define dynamics.

G S 83

Define force.

Sl FSUs 64

Define momentum. Write its mathematical formula. Give its
direction. Write its Sl unit.

fb/g(f’/”4’/"JJ‘-%D%/G(}V{JUJ!Q[@}JK,» 65
-uﬁ"’%y’gﬁ/”-‘u

Define Inertia. Explain with example.

e oLy S SEs 66

Differentiate between a force and inertia.

_L[/O/.Uf?}lzﬁldj); 67

State Newton’s second law of motion.

S K STy 68

State Newton's first law of motion.

B P O AL

Prove that: F = ma

F = ma-y/ =t 70

Define unit of force.

Sy NIy AN &

Differentiate between mass and weight.

SO Susagl T2

1State and explain Newton’s third law of motion.

B SN A P L

What is meant by action and reaction force?

?‘L)]/.L((L—J/} uiglu’//)l uﬁf' 74

Explain the action and reaction forces in case of rocket
motion.

_Q/&?L}}Juigld/ulﬂiuﬁu‘:}’d/&ﬁ/ 15

How much force is needed to prevent a body of mass 10 kg
from falling?

Sokn AT LLL e i SIF G0k 76

What is meant by an isolated system?

?‘a;l/gc(i’/ﬂ/'f a7

Define force in terms of momentum. Also write its
mathematical formula.

-u:‘”iu’funwu-q/bg}b(ﬂmﬂw} 78

Define force of friction.

GSa PSS i 19

Define force and friction.

_Q/..yfd/ﬁ//mwi .80

Define friction. Write the value of co efficient of friction
between tyre and road.

dJM&!ILJ{)ul",»/;isw;u’e’-q/.yf&f() .81

o

What is meant by co efficient of friction? Write its
mathematical formula.

b g S PSR L 82

Differentiate between sliding friction and rolling friction.

SIS Sl i 83

Write down two advantages of friction.

el 84

Write down two disadvantages of friction.

_ﬂgtujﬁ)éuy) .85

Define centripetal force. Write its mathematical formula.

kb PSS e 86

What is meant by centrifugal force? Write its equation.

sl U QK-S PSS RS e 8T

Define parallel forces. Write the names of its types.

S S S 88

Define like and unlike parallel forces.

SIS afuis gy 89

What is head to tail rule of vector addition? Explain with
example.

_Q.’/o?Lha,JC"?LL‘L,fdqu;&fLGZJJ}{) 90

How a vector is represented graphically?

et L ST 91

What is meant by rectangular components?

?Q;)l/g¢u’l;j:{d»f .92

What is meant by resolution of forces?

?c‘_;i/gc'_f/}_ﬁfuézj.}‘/"/ .93
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In a right angled triangle length of base is 4cm and its
perpendicular is 3cm. find length of hypotenuse.

BCméL,JJ»A‘Lw/Mcm éu&,ﬁwwd,mmv{f .94
_q/r}"éugf/’;éw_‘g

Define a rigid body.

Sy e 95

Define axis of rotation of a body.

G F st ALAST 96

Define moment arm.

_q/_g}qu’wr 97

Differentiate between axis of rotation and moment arm.

-J,./’/J/‘uf”/fﬁf/‘r‘uiuifudffg 98

Differentiate between moment arm and line of action of a

force.

_J”/’/L}/ uy»LJ/i_;TﬂuTJuﬂlpTwr .99

On doubling the moment arm, find its effect on the value of

torque.

W o S e S T ey 100

What is meant by principle of moments?

e Ur 16 101

What is meant by plumb line?

Q%}'/g&JUJ 102

What is meant by a couple?

Sl pie 103

What is equilibrium? Give two examples.

-Q}dgffﬁ)c%g(:/d:g 104

State the second condition of equilibrium. Write its
mathematical formula.

-u:"” U QLK1 Ub 26 ST 105

Define unstable equilibrium. Give example.

S P SE A8 F 108

Define neutral equilibrium. Give example.

S ASE sk 10T

Define law of gravitation.

g ewEE L $e S 108

What is gravitational constant? Write its value.

te e dduie et Frue S 109

Give the value and unit of ‘G’ in gravitational constant.

3G e S 10

Why we cannot feel the force of gravitation around us?

LS o Ul FR S e

What is meant by gravitational field?

Ce e S 12

What is the relation between law of Gravitational and
Newton’s third of motion?

e P S AL Fr L inois L2y S 13

Write down the formula to find the mass of Earth.

i LS s 14

Write the formula to find the mass of earth and write the
mass of Earth.

A s S s 115

What is the numerical value of g at Sun and Mars?

"‘Q’L:J/;;x:fd/g 45&6//5!@»" 116

[Pl

e dnudfedS g dusy 17

Why does the value of “g” minimum at the top of
mountains?
155.If R is doubled, then what will be change in g = G}ge

We Ot G = iz b Sl R 18

R2

What Is meant by a satellite?

?ﬁ‘_}i/.lf(r_.‘;fl}%f’ 119

State the difference between natural and artificial satellite.

UGS et § 52 305 120

What is Global Positioning System? What is its use?

SIS 1 T By o 121

Give two uses of artificial satellites.

e Lo 5o 122

What is a satellite and geostationary satellite?

SIS S 2 e 123

What is a communication satellite? Write down its height
from the surface of earth.

ANt e S5 124

What is the height of geostationary satellite from the
surface of Earth?

v (ng it e &St ibesing 2 125

Write the formula of orbital speed of artificial satellite.

e i o TSt S o 126

Define work and joule.

SIS Sz S 127

What is the difference between work and energy?

?%J}&fut&/.'/}’d//’ 128
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Define types of mechanical energy.

_u:”ﬁ(térlﬁd&.); 129

Define kinetic energy and write its mathematical formula.

g S P S 3¢ 130

Define potential energy and write its equation.

b g S A S8 Sy 131

Write equation of kinetic and potential energy.

<ﬂuf1,uu(&juﬂbg/;u&juu@'&{.132

What do you mean by mechanical energy? Give some
examples.

A e e BT 133

How mechanical energy changes into heat energy?

e bV AS S S NS 134

What is sound energy? Give examples.

et G AL 135

Define chemical energy.

S Gk 136

Which energy converts into muscular energy?

e dnFF G AL 13T

Differentiate between mechanical energy and chemical
energy.

LS LOPCH K S 138

Describe the difference between electrical energy and light
energy.

-Q/ugg}/uﬁ(j/lwmuﬁ;?l 139

What do you mean by nuclear energy?

?‘g)l/gc.p{/’!ﬁ.g}f 140

Describe the use of light energy.

LG A ey 1M

What is soil erosion?

‘."Lﬂ/gr_fl?(u.’:) 142

Write down the two disadvantages of fossil fuels.

-u.‘.“i;/liuziﬂzfd/} 143

What is meant by non-renewable sources of energy? Give
their examples.

-Q:}dglf‘v‘u?ba;l/gc;él/},gig}G'L’LJ./'! 144

What do you mean by nuclear fuels? How energy is
produced form nuclear fuels?

¢ Qe G IR A e p e JR A 145

Define fission reaction.

g PSS 146

What is solar cell?

e U S 4T

What is the second name of solar cell and how it is made?

S bbb S WPl b v 148

192.0n what parts a heating system consists of?

St P S T B 149

Write the uses of wind energy.

I 1 £ s 150

What is meant by geothermal energy?

?‘Q)I/Q-'/LJ./'!J/’};? 151

What is meant by energy from biomass?

Cesl e & S bE A UL 152

Write Mass- Energy equation. Also write the value of speed
of light.

-inuiogp(/;rJf}/-ﬁgl;bﬂ(j/lu’LJJl"/uﬁf153

What is meant by power? Write its formula.

-u:‘”iunwm?%n/g;/;g 154

Write the properties of kinetic molecular model of matter.

_df’“ lor? § Jsu,;?u@'émuu 155

What is meant by plasma state of matter?

el e Mo Sk ol 156

Write two differences between solid and gas.

3t § i # ABT

Describe some properties of plasma.

N elbor? 28Ut 158

The mass of 200 cm? of a stone is 500 g. Find its density.

S 58012 500g UL A f1£200 om? 159

What is the Sl unit of pressure? Define it.

G S e s ot FE BT 160

What is atmospheric pressure?

?‘a)l/gc,/i/’..f/é‘;ﬁi 161

Why the air becomes thinner and thinner as we go up?

te dedidnundf e finurl b S PSS bAE 2 162

What changes area expected in weather if the barometer
reading shows sudden decrease?

?cb_J/waouw‘réz,)JJthuu:jng}:,/; 163

What is meant by mercury barometer?

?cb_;!/y/c;j'fﬁ/:.d// 164
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Write down the names of some devices which work on the
principle of Pascal’s law.

_u:‘a“_/(K/?u)b“L&gﬁufi(téﬁugsuiupg 165

What is principle of floatation?

S8 7 166

On what principle, ships and submarines float on surface of
water and why?

UL f Qe LI LonsT iz $ 7 16T

A wooden block floats on water. Why?

U et 74 dL2HE AL 168

Define deforming force.

S S Uid s 169

Define strain and write its formula.

g S P e AT0

Define stress and write its S| unit.

oy Sl S P S AT

What is difference between stress and strain?

State Hook’s law.

S 6 T3

What is meant by elastic limit?

?‘a)l/.l,fc&)..ﬂl};l A74

What is meant by Young’s Modulus?

?‘L)!/.L:-ra_uj)}br‘)q A75

Why is heat called as the energy in transit?

et UG Adn3 S e s 176

What is thermal equilibrium?

S VEASKIS # ATT

Differentiate between heat and internal energy.

SSRGS Frses. AT8

What do you mean by lower and upper fixed points?

el e e L1y B 79 AT9

Write two scales of temperature.

LA 5 180

Define Fahrenheit scale of temperature.

S PSS AL g 181

What do you know about Kelvin scale of temperature?

CE T A LS K L 54 182

Define Fahrenheit scale and Kelvin scale.

S P EIE M K ek 183

Write the formula of conversions form Celsius to Kelvin
scale.

ikl L At SE g e S 184

What is absolute zero?

?‘L.L{C/"J_"«}.J.f%l 185

What is a clinical thermometer and its range?

eV E S K 2 EE 186

Convert 100° F into the temperature on Celsius scale.

S G E S £ 100°F 187

Convert 50° C on Celsius scale into Fahrenheit
temperature scale.

S A A £50°C Ut 188

Define specific heat.

Sy P a7 189

Temperature of water in a beaker is 50°C. What is its value in
Fahrenheit scale?

Ol Ut E LA e 50°C £ 260 20 2 £l 190

Normal human body temperature is 98.6°F. Convert it into
Celsius scale and Kelvin scale.

U A e b 98.60F £ S AU 191
s

What will be the temperature on Kelvin scale of temperature
when itis 20° C on Celsius scale?

5200 C 5.4 1 K A at¥ ol SE o 192

Change 300 K on Kelvin scale into Celsius scale of temperature.

S AIE T 5 300K (S 0k 193

Define heat capacity. Write its mathematical formula.

w:”’%‘fuml%w«q/bg/’dﬂjﬂ%@v 194

Differentiate between freezing and melting point.

SO e By f 195

What are the factors on which the evaporation of a liquid
depends?

Sty N5 A KH e it =L 196

What is the effect of temperature on evaporation?

etV g ey 197

How nature of the liquid affects the rate of evaporation?

Ce bt 0SS Hmybes 3501 198

Give two uses of cooling effects by evaporation.

1 £ S S S S 199
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How evaporation differs from vaporization?

e AL e Pz 200

Define vaporization.

S P S s 201

What is meant by evaporation?

?LQJ!/.Q(LU’}"'/);.{’! 202

Why rate of evaporation increases by increasing the
surface area of the liquid?

S Qo0 2E P e oy 3.8 604 203

How wind increases the rate of evaporation?

e 3 U AU I FEF g in 204

What is meant by anomalous expansion of water?

?%)l/ga,fl},‘i'}/oﬁﬁ'é’_éég 205

Define co-efficient of volume thermal expansion.

Sy FE B Lt (7 Ut s 206

Why gaps are left in railway track?

?‘gblgﬂ}’;’u[uéuynziug)’;d/c}b 207

Write two uses of bimetallic strip.

<ufic«ﬂla~'°“l;:£dﬁ,8lw» 208

Write any two applications of thermal expansion.

I S e 35 L sus 3 209

What do you mean by transfer of heat?

?‘L}!/Lfr_;«/iidw}l 210

Write the names of methods of transfer of heat.

-fﬁ(téuiy/zignidwﬂ 211

What is meant by conduction of heat?

?‘L)l/gccf“ﬁ/d/cdii 212

Define the rate of flow of heat.

Sl e U S L e r 213

Define rate of flow of heat. Write its mathematical formula.

_ﬂumsmv%,u/g;c;quaa,.; 214

Define thermal conductivity. What is its mathematical
formula?

i B o P TS 7 215

How does cross sectional area of a solid affect thermal
conductivity?

St G AT L ¢ 216

Write any two factors of rate of flow of heat.

-gj.‘fjrtéiJlfuLl;Ln)ul/:'i/?C;d/ﬂi{L;«/!] 217

What is the effect of length of the solid on thermal
conductivity?

et G2 S L # 218

Differentiate between conductors and non conductors.

S AU P P2 219

Give some uses of conductors. _in U1 L2 220
Mention two uses of non conductor. _U:’J e W1 L5 221
Define convection. Sy PSS 222

Differentiate between land breeze and sea breeze?

e GRS AE M 223

Write two uses of convection.

I i LS 224

Write down two uses of convection currents.

-in;«ULﬂf“méu’?/uﬁg}{.225

What causes a glider to remain in air?

?‘L.’,,»«L/K“ajuimimf 226

What is meant by land breeze?

?gb'_;!/gcd/,ﬁ) 227

Write names of any two birds who are expert thermal
climbers.

AL Ui S B s 228

Define radiation.

S P8 229

Name the factors on which the rate of radiation depends
upon.

e FE PSS e £ 230

What is the effect of surface area on the rate of radiation?

Ce b0 FEAA NS 231

What is a Leslie’s cube? Write its four surfaces.

Lo St LR 232

Mention the use of Leslie’s cube.

L a3 233

Why is not advisable to wear dark coloured in summer?

V‘abbguwlu{éégﬁ/ijzgjuﬁux'j234

Why bottoms of cooking pots are made black?

b & Uil ibUF 2l nd g 235

Write two consequences of radiation.

L i L Fiss, 236
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284 Why we wear white or light coloured clothes in
summer?

Ctdrud e AL L& Ao S 23T

What is thermos flask?

e Ly F 238

Write uses of Styrofoam.

?4‘;&1/(/55//& 239

Long Questions

Q1. Write detailed answers of the following

S Mz Ly S5 psne

questions.

translatory motion.

Explain translatory motion and give examples of various types of

el S RS S oF 8 1

Define scalar and vector quantities. Give two examples of each.

_Q:Jug@‘uuJQ/;-Q/C@}JQ;/!J/;{;A!%

Derive equations of motion.

‘Qj/j&!ufl:l/d/uir‘

Define momentum. Write its mathematical formula. What is its SI
unit?

‘7%&@/‘2{&'ufd’%'/"-'!(b‘fufﬁu,wdww;,g/-é}/“tfﬂ"

State and explain Newton’s first law of motion. Why Newton’s
first law of motion is also called the law of inertia?

S bk Ul B ELEAIE g P 6 o U6 g6 P K

State Newton’s second law of motion. Derive its mathematical
formula. How you can define Newton (N) using second law of
motion?

Ul Ll g Sy BUE I S I6) KT K
\E S Ly Ui

State the law of conservation of momentum. Explain with
examples.

_u“/;»u,d/mc.u)@q/uy.uiw(ﬁufif%r

What do you mean by force of limiting friction? Derive its

mathematical formula. Define coefficient of friction of this relation.

MLE’/;U}”/GJI_Q/JHU}”/EL}VKJI?LLA/&J/:.J/.&JJTJ/}

S ST
Write down advantages and disadvantages of friction. ~U1J et £6 L )
Describe the methods to reduce friction. SIS /{ S

Define centripetal force and prove that: F, = mv?

Q2. Write detailed answers of the following

F. = m—ﬁfu‘:/yb‘/)i_u’“/bngtfuf”ﬁd}(

S f Ml Ly S5 psr

questions.
State and explain resolution of forces in its rectangular
components.

_u:/c)uuﬂbéjyur'//}.)l’gf‘ﬂ..}’/“/gﬂu’xj}{d;/

What do you mean by torque or moment of force? On what
factors it depends upon?

?Lal:‘yz/?Jldelﬂ;l KJ!?LQJ!/L{KLJJ}JT:X/%L_J//L‘

State and explain principle of moments.

RSP I E S il Vet s

Define centre of Gravity. What is its importance?

I en$ S8 PGS ST

Find the centre of gravity of an irregular shaped thin lamina with
the help of plumb line.

_Q/()L”&{‘/JT/L;’{&/,:%LyoﬁG{_ug’cuJJU%«};

What is a couple? Derive its mathematical relation.

gLty PSS

Define equilibrium and explain its different states.

_u:/'/c)L«'uJUFJBJ’;JJU}!J“/KJ/J'J,{/&:Q

Define equilibrium and explain its conditions.

o lon§ i 2SS P S Ak

Define work. Write its mathematical formula. What is its unit?
Define its unit.

I Pt el e NS P S o

Define kinetic energy and also derive its formula.

Sl R Ay Sy PG 3¢

Define potential energy and also derive its formula.

e KRS PSS

Write the names of important parts of solar house heating
system. Explain each part in detail.

Sl el 2 ﬂ_ﬂ AL AL s

What is biomass? How biomass can be converted into useful
energy?

St U#UAT G i e VUL

Write and explain the Mass-Energy equation of Einstein.

-u»/yl.-hd/u’lu!fiaiﬁl/&/'!g]l.p(uﬁl‘i«ufl’
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a3. Write detailed answers of the following

-u"’//.;:«yﬁwﬁwmfjj.yﬂ

questions.

How kinetic molecular model of matter is helpful in differentiating

various states of matter?

S Kol P IS Bt B Sl i s (il

Explain the working of hydraulic press.

SN SIS Py YN )

Explain the working of braking system in vehicles.

-Q/;v%&’;/r(ﬁﬁﬂzﬁug%

What is upthrust? Explain the principle of floatation.

Lol L et p e A S

How can we calculate the density of an object by using
Archimedes principle?

‘-’wifrﬁ”{f&’iﬂﬁufﬂéfdwu,ﬂKug“vu

Explain how a submarine floats on the water surface and dives
down into water.

?L;Cé’c/’JmL&gm/jﬂ!&yw’fq/yu,

Define Young's Modulus. Derive the formula and write the unit.

S R Sy PSS e K

What is meant by evaporation? On what factors the evaporation
of a liquid depends? Explain how cooling is produced by
evaporation.

& ety S SAS TIPS étu/(s“an e sy
e Qnind St Fopp g,

Explain the volumetric thermal expansion.

S el i Q7 s

Define linear thermal expansion in solids. Derive a mathematical
relation for linear thermal expansion. Define coefficient of linear
thermal expansion from this equation.

B F Yo Lt 37 b Sy f i G b Ut plaig #
SIS Pl L dirdpe F g/,

What is a bimetal strips? On what principle it is made? Give its
working and uses.

IS b o1 e 1S S e

Define Specific heat. How would you find the specific heat of
solid?

?LgdngpL‘”d:/r‘gaﬂid/()'u’);ugl"ébéf/‘?d//ﬂgo/!/

Numerical Problems

A train starts from rest. It moves through 1km in 100s with
uniform acceleration. What will be its speed at the end of 100s.

0L HE Mty (T e 2ol eiig s A
S by Sep iyl 00 3L Lotk 22 Gt

A car has a velocity of 10ms~1. It accelerates at 0.2ms ™2 for
half minute. Find the distance travelled during this time and the
final velocity of the car.

;cﬁ)-{!é 0.2ms™2 F w27« 10ms™? Skl 2
_J“/r)’“‘u’f&’wdifd/m;i?JQ/&JJGWLng

A train starts from rest with an acceleration of 5ms~2. Find its
speed in kmh ™1, when it has moved through 100m.

100-cd/8s S AL HAMIL Sms 2 cdofetig il 3
cSnl Ut kmh~ U S L LS Lok 2

How much time is required to change 22Ns momentum by a &)W[JJ}JZONALL/'/IM.J/‘;JZZNSJ:H‘;"/}’LK?U/K 4
force of 20N? . o
?g}’f/@}
Find the acceleration that is produced by a 20 N force in a mass uuanu:ﬁw-aw//fw}JZON/(’-J'LJLBIcg 5
of 8 kg. - ‘ T
g S
Abody of mass Skg is moving with a velocity of 10ms™. Findthe | o, wecoyir o\, /e Gus§10ms 1 S 55 6
force required to stop it in 2 seconds. ‘ .
_u:/(}’”u'/}’/g/}éé

A bullet of mass 20 g is fired from a gun with a muzzle velocity
100 ms™. Find the recoil of the gun if its mass is 5 kg.

_LalOOmS_1&}EQLJL’JJ},@;}U}JJ?deu’l,ri/fZOu{’ T
e SkguU1 B/ G S L Gk

How much is the force of friction between a wooden block of
mass 5kg and the horizontal marble floor? The coefficient of
friction between wood and the marble is 0.6.

u’/”u’y/d/‘f'//uLf"/}LJ/g’f&//i‘/}’JD’Ld}GLJLrII}KS 8
-LcO.ch’:Jf/'.Ji'.:‘f:fdzlfuyué//..ﬁmd}g?fﬁ

How much centripetal force is needed to make a body of mass
0.5kg to move in a circle of radius 50cm with a speed 3ms~1?

LLf;/};J 3ms‘1uiz_/’l;égﬁ,‘g/SOcm/ﬁéu’l.(!f}KO.S 9
e pdudis e d L L

A force is acting on a body making an angle of 30° with the
horizontal. The horizontal component of the force is 20N. Find
the force.

_ﬁ;(ﬁ//Janled5|JK300,:5Ugj1/£ff|—X/.:()'u/ij/:;..«g 10
I U 20N X6

A man is pulling a trolley on a horizontal road with a force of
200N making 300 with the road. Find the horizontal and vertical
components of its force.

S92 B ¥ 3002 £ S Fre A S200NF 1 A1
-;é()yu;‘f;{d}/m&’.uLJ/}JLQ/@"[
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A force of 100N is applied perpendicularly on a spanner at a
distance of 10cm from a nut. Find the torque produced by the
force.

g S-e ) S of o o e Z10eme i d $ 100 12
St Sk

A nut has been tightened by a force of 200N using 10cm long
spanner. What length of a spanner is required to loosen the
same nut with 150N force?

150Nt Ul = U J200NL Ui 22 10eme 1 13
?gn/{/}%wt‘:fc_}. A:L/U,{”fc.u'u"{

A mechanic tightens the nut of a bicycle using a 15¢m long
spanner by exerting a force of 200N. Find the torque that has

S Sk S el e L 15em B S200N_ESL) 14

tightened it. g L
The steering of a car has a radius 16cm. Find the torque JL‘UI:an:.J{LNSO_Lcm16&1%&’3,{/5,{{ 15
produced by a couple of 50N. - ‘ ) )

T

A stone of mass 500g strikes the ground with a velocity of 20ms-
1. How much is the kinetic energy of the stone at the time it
strikes the ground?

e tie b1 F e F1§20ms T gt ioe 1. /500U Al 16
S 6o 68 ez F20ms 1

A block weighing 20N in lited 6m vertically upward. Calculate the
potential energy stored in it.

Jﬁf‘gdu'@mj;'uﬁ‘J!-L4ﬂ$f6mqng4}!T}/JwJJ;2 ONb{! A7
ML Y

A 500g stone is thrown up with a velocity of 15ms*. Find its P.E
at its maximum height and K.E when it hits the ground.

Lo -e b A e 15ms ™ALL 1./500 18
U/ ,'}VJ./'I_,@'&K&;LJ cdﬁ)ul&/’ldﬁfb{/‘: =

A body of mass 50kg is raised to a height of 3m. What is its
potential energy?

_épl’”&jlﬁ‘{JJI_‘Lﬂd’IJJAJm:Sff)’uQZ,"i/@{50 19

A cyclist does 12 joules of useful work while pedaling his bike
from every 100 joules of food energy which he takes. What is this
efficiency?

b s TK12] e G P F L 55139100] st .20
‘-‘fmff@{»df'nfw-e

A motor boat moves at a steady speed of 4ms-1. Water
resistance acting on it is 4000N. Calculate the power of its
engine.

S A e (e dwatf dms 1 wazv gt 21
U S FILU1-4000N <,

A man pulls a block with a force of 300N through 50m in 60s.
Find the power used by him to pull the block.

S e B F50mUt60se 03 S300N S S figsT L 22

BN
A 50kg man moved 25 steps up in 20 seconds. Find his power, if L{i}’16cmd”f/[ﬁLw2qu25C)U}}£2OSU,JTu{’g('/C‘KSO 23
each step is 16cm high. i T .
LSS

Calculate the power of a pump which can lift 200kg of water
through a height of 6m in 10 seconds.

I e (Pt E .4 St 108/ 3,200k g4 L 24

Calculate the power of a pump which can lift 70kg of water
through a vertical height of 16 meters in 10 seconds. Also find
the power in horse power.

St PG 105 FS kst Y16mI8L70kg s ki .25
I E A TN B S

A wooden block measuring 40cm x 10cm x 5cm has a mass
850g. Find the density of wood.

- 98500 L F L L P 40cm x Locm X Scm .26

_Q/(}’”G"%Jd}ﬁ
The density of air is 1.3kgm 3. Find the mass of air in a room Ve JEF e 8m x 5m x 4m e 1.3kgm™3Gd1s 27
measuring 8m X 5m X 4m . J/r,b»ummy,»

A cube of glass of 5¢m side and mass 306g, has a cavity inside
it. If the density of glass is 2.55gcm™3. Find the volume of the
cavity.

. s

LALE "m&wmbag306JLK.,[£&~&L§!£A‘;/L/}»”5~“5 .28
_u»/()"‘péw&yfw?n 2.55gcm™3 6";»5@(“4““/'7_9

A student presses her palm by her thumb with a force of 75N.
What would be the pressure under her thumb having contact
area 1.5cm??

LiﬁLu’l_‘gt'@)[ﬁ(};!/@u’/}J75N¢£bfl'%.iﬁb.)l£u{l .29
?Knb“fﬁ;4uv,£4g4ué 1.56m2é

The head of a pin is a square of side 10mm. Find the pressure
on it due to a force of 20N.

$20NUsL 1 10mmi LIS U7 e lid o1 Sutker L1 .30
_Q.“/(}L’”/f.éﬂﬂﬁLn!@:LJ/}

The diameter of the piston of a hydraulic press is 30cm. How
much force is required to lift a car weighting 20,000N on its
piston if the diameter of the piston of the pump is 3cm?

F L L2 6i5631:20000N-c-30cm B4 L 2, iy 31
?n3cm}5g!%ﬂ£%/ﬁfmmuj

A wooden cube of sides 10cm each has been dipped completely
in water. Calculate the upthurst of water acting on it.

Uleatts b F Ui e 10em3USE L7 ks AL 32
S L,
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The weight of a metal spoon in air is 0.48N. its weight in water is
0.42N. Find its density.

G- 204200561 AL £ o 204806 Qs i 33
S

A student presses her palm by her thumb with a force of 75N.
How much would be the pressure under her thumb having
contact area 11.5cm??

LE AL 1t d S5 O NTE 2 Fi i el 34
?(ntif/i/?uuf/?wé 1.5cm2 é

The head of pin is a square of side 10 mm. Find the pressure on
it due to a force of 20N.

JAEN20UE 1m0 LIS P e il o1 - duer LT 35
‘J”/(()“’/’Z.4:U1;Ln!%¢

A wooden cube of sides 10 cm each has been dipped completley
in water calculate the upthurst force of water acting on it. When
density of water is 1000kgm 3.

Jl,%!n@ﬁ/vu}’d'{uﬁGg“L 10cm &Wd/é}ﬁd/f_,{wﬂb{l .36
-« 1000kgm™3 &4 Ey /il

A barge, 40 metre long and 8 metre broad, whose sides are
vertical, floats partially loaded in water. If 125000 N of cargo is
added, how many metres will it sink?

k-t F N LU A5 B 2401 3T
o0 o e i1 £ 6125000

A steel wire of cross-sectional area 2 x 10~ is stretched
through 2mm by a force of 4000N. Find the young’s modulus of
the wire. The length of the wire is 2m.

C_L@JJ}JALOOON/MU% J1S 2 % 10‘%»45@" .38
GgJJm,é-q/(}vujﬁﬁrﬁK/t-+t@nJuiKmeuﬁ&L,JJw

-<2m
A container has 2.5 litres of water at 20° C. how much heat is cdlfi;;féLiL'I&LJ’L}ﬁf&wz.5/f./2OOC 39
required to boil the water? " A i o I g”
SO x8n
How much ice will melt by 50000J of heat? Latent heat of fusion s E G L s 508 S, e i e 7250000 40
of ice is equal to 336000Jkg-". : : )
-<-336000Jkg".

How much heat is required to change 100g of water at 100°C into
steam? Latent heat of vaporization of water is 2.26 x
10%jkg1.

Srkpenr T L LL S s gty £.£100°C 31100 41
e 2.26 X 1087kg ™ 7§ SefonnSiL£

Calculate the increase in the length of an aluminum bar 2m long
when heated from 0°C to 25°C. The thermal coefficient of linear
expansion of aluminum is 2.5 X 107K 1,

OIS U S £ 25°Ce 0°CI L S b 22 42
2.5 ><;afdl;:‘djl/iﬁlz{&/vdkL(f‘»ﬂ&l,é_q/(k”,iw
-« 107°k1

A balloon contains 1.2m3 air at 15°C. Find its volume at 40°C.
Thermal coefficient of volume expansion of air is 3.67 X
10~3m3.

L L A0°C kU et 1.2m3, 15°CUt e b LT 43
—e 3.67 X 107 3m3ed S Ling Qs tpdn Jin 2

Brass rod is 1 m long at 0° C. Find its length at 30° C.
(Coefficient of linear expansion of brass 1.9 x 10™°K 1

By /P 30°Co S Ut R L £ A 0°CE- ST 44
1.9 X 107K ' ed et @y Ling dard b L f

Find the volume of a brass cube at 100° C whose side is 10cm at
0° C. (Coefficient of linear thermal expansion of brass 1.9 x
10~5K1

LS5 Fe 10°C40°C3US7 g s r bk sl £ J5,100°C. 45
< 19X 105K " Led S @y Lang durds
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